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1. State whether the following statements are true or false with due justification. (3*4=12)

(a) For a L.P.P minz = 2x; + 322

subject to 1 <4
x1+2x9 > 7

1,72 > 0

the optimum solution is unbounded.
(b) The L.P.P max z = 2x; + 222

subject to 1+ x9 < 20
I S 15

1,72 > 0

has multiple solutions.
(¢) The L.P.P maxz = —5z1 — 12x9

subject to T, >7
€T > 4

1,72 > 0
has no solution.

2. Express the following L.P.P in standard form and do the first iteration of simplex
method (2*4=8)

maxz = 3x1 + 2x9 + bx3
subject to 221 — 329 < 3
T1+2x9+3x3>5
3r1 + 219 < 2

1,72 > 0

3. Solve the L.P.P (15)

min z = T, — 3x2 + 223
subject to 3x1 —x9+3x3 <7
—2x1 + 4z <12
—4xq1 4 329 + 8x3 < 10

Z1,T2,T3 > 0

4. What are the different types of sensitivity analysis possible in a L.P.P. Explain briefly
any one of them. (10)



